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Grade 4 Math Worksheet: Subtraction (Difficulty Level: Advanced)
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Part 1: Subtracting Large Numbers
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. 841,348 - 267,769 =
. 153,876 - 19,432 =
. 724,609 - 77,325 =
. 576,907 - 493,586 =
. 673,452 - 197,687 =

972,845 - 279,619 =

. 555,642 - 26,478 =
. 889,903 - 478,517 =

745,862 - 367,698 =
619,305 - 389,459 =

Part 2: Word Problems Set

Read the word problems carefully and solve them:

1.

A factory produced 654,321 units of a product this year. Last year, it produced
789,012 units. How many fewer units were produced this year compared to last
year?

A city’s population was 987,654 last year. This year, due to migration, the
population decreased to 678,901. What is the decrease in population?

A library had 876,543 books. After donating 345,678 books to another branch,
how many books remain?

A company made 543,210 rupees in profit last year, but this year the profit was
only 234,567 rupees. How much less profit did the company make this year?

A sports stadium had a total capacity of 789,012 people. During an event,
567,890 people attended. How many seats were left empty?

A farmer harvested 678,901 kilograms of wheat but sold 456,789 kilograms. How
much wheat does the farmer still have?
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7. A store initially had 987,654 items in its inventory. After a big sale, it now has
678,123 items. How many items were sold?
8. A construction project required 876,543 bricks initially. After one phase, 345,678
bricks were used. How many bricks remain for the next phase?
9. A shipping company handled 789,012 packages last year. This year, they
handled 567,890 packages. How many fewer packages were handled this year?
10.A school had 654,321 rupees in its budget. After spending 234,567 rupees on
new equipment, how much money remains?
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